
Gritmaster
309 Percy Osborn Road Morningside, 4001
0313035785
https://gritmaster.rrproducts.com/

Details
Includes 26 ea: R3256-23 Washer, RP3018-2 Nut; 20
ea: RP17609-1 Bolt; 6 ea: RP17609-2 Bolt

Specifications
Manufacturer R&R Products

Replacement Parts
R453009 Washer - Flat 5/16 SAE
RP17609-2 Bolt - Carriage 5/16-18

x 1-1/2
RP17609-1 Bolt - Carriage 5/16-18

x 1-1/4
RP3018-2 Nut - 5/16-18 Zinc

Hardware Kit
RP17609


